Q1) Fill in the Missing Numbers:

a) _ -29=42 f) _ -345=456
b) 81-_ =37 g) 789 - =567
c) 64-28= g) 896 - =665
d __ -46=44 g) 502 - =299
€)92- =43 g)693 - =435

Q2) Word Problem

a) A shopkeeper had 84 candies. He sold 56 candies. How many
candies are left?

b) There were 73 students in a class. After 38 students left for a
field trip, how many remained?

c) Rohan collected 92 stamps. He gave 49 to his friend. How many
does he still have?

d) A farmer had 812 apples. He sold 341 apples. How many apples
does he have now?
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e) A school library had 654 books. After lending out 432 books,
how many are left?

Q3 Solve the Riddle:

a) | am a number. When 456 is subtracted from me, | become 234.
What am 1?

b) A magic box has 845 candies. After giving away 321, how many are
left?
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